ALEGRBA RH HW

I. Identify the needed information from the equation of the transformed function.
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Il. Write an equation of a function given the name and transformations

a. Absolute Value: Vertically stretched by a factor of 4, translated 3 units up
y= 4% +3

b. Cube Root: Vertically stretched by a factor of 3.45 and shifted 4 units left and 8 units up
y= 3.45Yx+4 +32

¢. Quadratic (in standard form): Vertically stretched by a factor of 2, reflected over the X-axis,
translated 4 units down and 5 units left
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HI. Write an equation of a new function given a NON PARENT function

Given y = —3(x — 1) + 3 : Shift is 8 units up, 9 units left and reflect it over the x-axis

add 2 to the  add 9 mvitiply Front
back inside by a negative
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Y= 3(x+8) ]

IV. Write an equation given the graph of the transformed function (Don’t forget the “a” value)
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